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FOREWORD
The Candidates’ Items Responses Analysis Report (CIRA) on the Certificate of
Secondary Education Examination (CSEE) 2021 has been prepared to provide
feedback to educational administrators, school managers, teachers and other
stakeholders about candidates’ abilities in the Arabic Language subject.

The Certificate of Secondary Education Examination (CSEE) is a summative
evaluation that, among other things, shows the effectiveness of the educational
system in general and the educational delivery system in particular. Essentially,
candidates’ responses in the examination questions are strong indicators of what
the education system is able or unable to offer candidates in their four years of
Ordinary Level of Secondary Education in the subject.

The analysis presented in this report intends to contribute towards the
understanding of possible reasons behind the candidates’ performance in each
question. The report highlights the factors that made the candidates score high
marks in this examination. Some of the factors include; the ability to interpret the
questions’ requirements, the ability to follow instructions, and adequate
knowledge of the concepts in the Arabic Language. The report also highlights
factors that led to weak performance among some candidates. Some of the factors
are failure to identify the questions’ requirements, inability to express oneself in
the Arabic Language and inadequate knowledge of concepts, principles and rules
related to the Arabic language.

The feedback provided in this report intends to enable education administrators,
school managers, teachers, candidates and other education stakeholders to
identify proper measures for improving the teaching and learning of the Arabic
language in secondary schools in Tanzania. It is expected that the insights given
by this report will enhance the performance of forthcoming candidates in future
examinations administered by the National Examinations Council of Tanzania.

The Council would like to thank all examinations officers, examiners, and
everyone who, in one way or another, participated in preparing and analyzing data
used in this report.

by of

Y as
Dr. Charles E. Msonde

EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyzes the performance of candidates who sat for the Certificate of
Secondary Education Examination (CSEE) in Arabic Language subject in
December 2021.

Arabic Language paper consisted of twelve (12) questions, with section A, B
and C. Candidates were supposed to answer eleven (11) questions. In section A
and B, the candidates were required to attempt all the questions. In section C, the
candidates were required to choose three of the four questions. Section A had
two questions, in which question one (1) had ten (10) items that carried 10
marks and question two (2) had five (5) items that carried five (5) marks,
making a total of 15 marks. Section B had six (6) questions, in which question
three (3) carried 10 marks; question 4, 5, 6, 7 and 8 carried 6 marks each,
making a total of 40 marks. Section C had four optional questions, each carrying
15 marks.

The analysis of the Certificate of Secondary Education Examination (CSEE) in
Arabic Language presents what the requirements of each question were; and
what was expected as the responses in each question. Furthermore, it shows how
the candidates answered the questions. Samples obtained from the candidates’
responses are presented to provide a general picture of how the candidates
responded to the questions.

The rating of candidates’ performance has been grouped as ‘good’, ‘average’
and ‘weak’. In this analysis, the performance ranging from 65 to 100 per cent
has been categorised as ‘good’ and is represented by green colour; the
performance ranging from 30 to 64 per cent has been categorised as ‘average’
and is represented by yellow colour; the performance ranging from 0 to 29 per
cent has been categorised as ‘poor’ and is represented by red colour. The overall
candidates’ performance is summarized in the Appendix A.

The total number of the candidates who sat for the Certificate of Secondary
Education (CSEE) in December 2021 in Arabic Language was 15,528, out of
which (16.65%) of the candidates passed and (83.35%) of the candidates failed.
In 2020, candidates who sat for the Certificate of Secondary Education (CSEE)
were 16,933; out of these, 2,614 candidates (15.46%) passed and (84.54%) of
the candidates failed. This implies that the performance of the candidates in the
year 2021 has increased by 1.19 per cent compared to the year 2020.



2.0 ANALYSIS ON THE CANDIDATES’ PERFORMANCE ON EACH

2.1

QUESTION

SECTION A: Multiple Choice and Matching Items

This section consisted of two questions. The candidates were required to attempt
all the questions. Question one (1) was a multiple-choice question and had ten
(10) items that carried 10 marks. Question two (2) was matching items and had
five (5) items, each carrying 1 mark, making a total of fifteen (15) marks for this
section.

2.1.1 Question 1: Multiple Choice Question

This was a compulsory question. It consisted of 10 multiple choice items derived
from various topics of the syllabus. The candidates were required to choose the
correct answer from the given alternatives and write its letter beside the item
number in the answer booklet provided.

The question was attempted by 15,528 candidates (100.00%). A total of 9,967
candidates (64.19%) scored from 0.0 to 2.0 marks, which is a weak
performance. In addition, 5,308 candidates (34.18%) scored from 3.0 to 6.0
marks, which is an average performance. Lastly 253 candidates (1.63%) scored
from 7.0 to 10.0 marks, which is a good performance. The general performance
in this question was average since 5,561 candidates (35.81%) scored from 3.0 to
10.0 marks. The overall candidates’ performance in the question is summarized
in Figurel.
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Figure 1: Candidates’ Performance in Question 1



The analysis of each item in this question is as follows:

Item (1) was,
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The candidates were required to identify in which circumstance imperfect tense
(a4l Jd)is cemented (~) on fat-ha. The correct answer was (4) J-'SJ-J/

The candidates who opted for the correct answer (2) 242 &4 had the
knowledge of (Fulad slidl Jisa)) (The situation in which the imperfect tense
becomes unchangeable). The candidates knew that, the imperfect tense will be
static () in two circumstances: it is cemented (.~<) on sukuun when the nuun
of nis'wa (45« ;) is connected directly to its last radical and it is cemented
(<) on fat-ha when the nuun of emphasize (<52 ) heavy or light is
attached directly to it.

The candidates who chose (/) 4saisf £L were wrong. This is because; the
vowelled consonant ‘taau al-mutaharrika’ (4Saiall £L) are pronouns of the doer
which are used with the past tense (u<te/ Jed). The candidates who opted for this
distractor confused it with heavy nuun of emphasize, since both of them are
attached at the last consonant of verb. Furthermore, both of them affect the verb.
That is, ‘taau al-mutaharrika’ (4 £L) can change the past tense to be
cemented on sukuun (cused/ Lo a) while (2542 549, can change the verb to
be cemented on fat-ha (il & i)



However, some of the candidates were attracted by the distractor (<) és«d/ o897,
This was not the correct answer because when the nuun of feminine (s« s)
is attached directly to present verb (. tae Jedl) makes it to be cemented (=)
on sukuun. The candidates who opted for this distractor confused it with heavy
nuun of emphasise (44 1542 49), since both of them are vowelled particles.

Furthermore, the candidates who opted for the (=) ¢/ il were wrong. The
candidates with insufficient knowledge chose this answer because the letter that
precedes the alifu of dual (&Y <& in the verb is vowelled with fat-ha.

However, when the alifu of dual (& <if) is attached to the present verb, it
(verb) presents the duality.

In addition, some of the candidates chose the distractor (®) Jetdl 4" | The
candidates were not aware that, the Jeld/ "L is the pronoun which stands for
the first person plural. The candidates also did not realize that, the pronoun
cannot be attached to the present verb (E_tasl J2df). The candidates who opted
for this incorrect answer, confused the pronoun naa of doer (W L") with the
heavy nuun of emphasize (4 4552 54). This is because somehow it relates
with the particle of emphasize in the statement of the correct answer. This is
seen clearly when they are used with verbs.

The candidates who opted for the correct answer had the knowledge of J(sa))
(ESasd) eUd) (The situation in  which the imperfect tense becomes
unchangeable). While the candidates who chose the rest options lacked such
knowledge.

Item (2) was,
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This item was based on al-asmaau al-khamsa 4adil slaid (five nouns). The
candidates were required to discover in which sentence the word abun was used
grammatically correctly. The candidates who got the correct answer (=) had
enough knowledge of asmaau al-khamsa. These candidates knew the
grammatical structure of the asmaau al-khamsa when stands as a subject and
when stands as an object in a sentence. Also, the candidates knew the structure
of the asmaau al-khamsa when occurs in the position of majruurun in a
sentence. Furthermore, the candidates determined that, asmaau al-khamsa being
a doer in a sentence becomes mar-fuun by sign wau (#/#/), if it is an object, it
becomes mansuubun by the sign alifu (<&¥/) and when it is majruurun its sign of
jarri is yaau (#&¥). The candidates knew that this principle is applied to the
asmaau al-khamsa that are mudhwaaf (the first part of the genitive
construction), not attached to the yaau al-mutakallim and are neither dual nor
plural nouns.

On the other hand, there were some candidates who chose (1) 4esiafs &g/ e/
The candidates were wrong because the noun abun in the sentence is the object
and should have the alifu as its sign of nasbu. This is due to the fact that the
noun is mudhwaaf (the first part of the genitive construction), not attached to the
yaau al-mutakallim and is not dual or plural noun. The candidates were confused
by the fat-ha on the second person masculine pronoun. This is because, the
candidates generalised that, the sign of all objects in a sentence is fat ha.
However, the fat ‘ha is not of the noun.

Some of the candidates who chose (v) s/ & <elw were wrong. The
candidates failed to identify that, the noun abun has to be majruurun since it was
preceded by the preposition (). However they failed to determine that, the
noun abun is among the asmaau al-khamsa, thus, its nasbu sign should be yaau.
The candidates were confused by the fat-ha on the letter kaaf. This is because,
the candidates generalised that, the sign of all objects in a sentence is fat 'ha

There were however, some of the candidates who opted for (3)4duadf 4 Lo/ i,
These candidates failed to recognize that, the verb (<x.) includes subject of the
sentence whose object is the noun abuuka. So, this noun should be mansuubun
by sign alifu not the sign wau as appeared in the noun. Hence, they assumed that
the subject of the verb ra-a'itu (<x.;) was abuuka.



Additionally, some candidates chose (#)dlw Lo/ &/ These candidates were
fascinated by the pronoun (&) having fat-ha on it. This is because, after Inna or
one of its sisters, the subject of the nominal sentence (/ a«) becomes accusative
(«s<id); and the predicate (¢/ <) remains nominative (£444). Hence they
incorrectly thought that, the fat-ha as the sign of nasb is of that word. On the
other hand, the candidates failed to recognize that the noun abun should have the
alifu in that position as its sign of nasb because it is among the asmaau al-
khamsa.

The Analysis of this item shows that, the candidates who opted for the correct
answer were aware of both the structure and the rules of the asmaau al-khamsa.
These candidates had the knowledge that, the letter wau, alifu and yaau are
attached to the noun abun when it is mar‘fuun, mansuubun and majruurun
respectively.

Item (3) was:
58 131 Y A r“\“ ) (3
Lo I 55 450 g5 (g
Ll L3 KR S 15 G ,’mg’s—q
éLﬂ ;.LA c?‘) ch.u —-or
.é\.& ;.A.f-é;j ,\,,S.SQ 2 2 ck;.fn -5
é L el ’C}) ,w&J\ . cbju -2

This item required the candidates to determine when a last consonant of a noun
is vowelled by an original vowel. The candidates who had sufficient knowledge
of Arabic vowels were able to choose the correct answer () g sl zaa ¢/ 4o
Allw &3 zaa . These candidates were aware that, the types of nouns: mufradun,

sl zaa (jam-u ttakseeri) and (allw <3< 2a3) (jam-u muannath saalim) are
vowelled on the last consonant by using original vowel. These candidates were
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not only familiar with the types of original vowels such as fat-ha kisra and
dhamma but also types of far iyya vowels such as wau, yau and alifu.

In addition, some of the candidates chose (), (<), (=) and (3). The candidates
failed to recognize that, in these options, there were types of nouns that are not
vowelled by the original vowels. Those types of nouns were muthannaa (.~
and (sl ssis ga3) (jam-u mudhakkari saalim). The candidates who chose (i)
Al &iipe pas g Sl zaa o Ade failed to determine that, the type of noun
muthannaa e was mcluded in this option, this noun cannot be vowelled by the
original vowel. The candidates confused the nouns that are muthannaa such as
kitaabaan, kalamaan and yadaan with nouns that have a structure of faalaan
such as atwshaan, shab’aan and rayyaan which are vowelled by the origin
vowels. These candidates failed to distinguish between the i‘irabu of muthannaa
and the nouns with the faalaan structure. On the other hand, the candidates who
opted for (<) failed to determine that, the type of noun which was ( _Sie gea
adlwd)) in this option, is vowelled by waau in nominative case. However, those
who chose (=) and (?) failed to determine that, in both options; there were nouns
that are not vowelled by the original vowel.

The candidates who chose the correct answer had the knowledge of the types of
nouns and its inflections while those who chose the wrong answers lacked that
knowledge.

Item (4) was,
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Item (4) was about at-tam 'yiiz al-adad (describer of number). In this item the
candidates were required to identify sentence which was not grammatically
correct in accordance with the numerical principles and what is being
counted (<4s#=f). In this item all the sentences were grammatically correct except
one sentence. This item aimed at measuring candidates' ability to use at-tam 'yiiz
al-adad in sentence. The candidates with the knowledge of at-tam ’yiiz al-adad
opted for the (w) Ll sude s/ giie | These candidates understood that, from
number eleven to twelve must have the same gender as the describer.
Consequently, they determined that, the sentence (<) could not be the correct
answer because the number did not correspond in gender to what is being
counted (4s4ea) which was (<).

In addition, the candidates who chose () and (=) failed to realise that, the
sentence structures in these options were grammatically correct according to
principles of at-zam 'yiiz al-adad. The candidates failed to determine that, Arabic
numbers from thirteen to nineteen, the first part (ones) goes against what is
numbered (describer of number) while the second part (tens) goes the same as
what is numbered (describer of number) in agenda. The candidates who opted
for(=) for example, thought that, the word tis-ata (4e«) was supposed to be the
same as both ashrata (4.« )and galaman (L in gender.

In addition, some of the candidates opted for (=). The candidates failed to
realize that, this sentence is grammatically correct, thus disqualified to be the
correct answer according to the instruction given in this item. The candidates did
not know that, the number and its describer must be the same in gender
according to the principle of numbers from eleven to twelve. The candidates
thought that, the sentence was grammatically incorrect. This is because they
expected to see taaun marbuutwatun as the sign of feminine in the word
ithnataa (L&) . The candidates thought that, the only sign of feminine is the
taaun marbuutwatun.

On the other hand, some of the candidates chose distractor (2). The candidates
failed to realise that, this structure is correct due to the principle of numbers
ranging from thirteen to nineteen. This is because the word thalaatha (<&36)
differs from the describer while the word ash’rat (4.€) is the same as the
describer word (4s+</) in gender. These candidates mixed the principles of
numbers from thirteen to nineteen with that of eleven and twelve when are used



with the describer_ix<) . This is because the number from eleven to twelve
must be the same in gender as their describer.

The candidates who chose the correct answer realized that, the sentence
structures of (1), (=), (4) and () were correct grammatically, because they
followed the rules of fam’yiiz al-adad. On the other hand, the candidates
determined that, the sentence structure of (<) was incorrect grammatically. In
addition, the candidates who opted for the distractors had insufficient knowledge
of the tam ’yiiz al-adad.

Item (5) was,
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Item (5) was about a meaningful sentence. The candidates were required to
identify the sentence with grammatical error in the given sentences. The
candidate who had enough knowledge of the meaningful sentence opted for ()
d,ud/ ‘,-f/ 8.7 i | The candidates determined that the sentence did not adhere to
grammatical rules. In addition, the candidates recognized that, there was no
grammatical relationship between the pronoun anti (u-rl) and its verb. This is
because they knew that, the pronoun anti (<) is the second person feminine
singular pronoun in nominative case, while the verb (uﬂ-'-’r) contains the second
person masculine singular pronoun in nominative case. The disagreement



between the pronoun (<) (you) and the verb (m.ﬂ) made the sentence to be
grammatically incorrect.

There were however, some of the candidates who opted for () & oled Las
<l The candidates did not understand that, the sentence is grammatically
correct. This is due to the fact that, there was grammatical agreement between
the pronoun (&) (the second person dual pronoun in nominative case) and its
verb (ot44) which has the second person masculine dual pronoun. Furthermore,
the preposition (/) and the word ((ds«) (market) were correctly used. The
candidates who opted for this distractor, thought that, the pronoun (L&) is only
employed to female, thus its verb was supposed to be (o445 having the letter
taau (#4) at the beginning instead of (&) having the letter yaau (sb) at the
beginning. This implies that, the candidates did not realise that, the word (te?) is
employed to both masculine and female.

In addition, some of the candidates chose the distractor (=) Jetal/ I oL o
The candidates did not understand that, there were no grammatical errors in this
sentence. As such, there were no reasons for excluding it from grammatically
well-formed sentences. This is because, the pronoun (@ (the third person
feminine plural pronoun in nominative case) grammatically correlates with the
verb (¢##4) having the third person feminine plural pronoun. On the other hand,
the preposition (/) and the word (ceea)) were correctly used. The word ()
was the (s «is) while the word (Jees) was the majruurun by . The
candidates thought that, for the sentence to be grammatically correct, the
verb(c4) in this sentence was supposed to be connected with the heavy nuun
of emphasize (4l 852 49) .The candidates thought that because, heavy nuun
of emphasize (i 1552 (1 4) has the sign shadda as the last consonant of the
pronoun (J®) used in the sentence.

The candidates who opted for (2) Jet// I (a5 aZifwere wrong. This is because
the sentence is grammatical correct. The candidates did not realize that, there
were grammatical agreements of the words in this sentence. He or she for
example, did not realize that, the pronoun (aZ) (the second person masculine
plural pronoun in nominative case) correlates with its verb grammatically. This
is due to the reason that, the verb (=) in the sentence is expressing the
second person masculine plural in nominative case. The candidates thought that,
for the sentence being correct, the verb should be only written as (a4-) because
the two last letters are the same as that of the two last letters of the pronoun
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(a%). The candidates did not realize that, the verb also can be written as (cus24)
in the present tense.

The option (®) (olsY I slwidi L) was chosen by the candidates who did not
understand how to connect the dual pronouns with its verbs in the sentence and
how the preposition can be used with its noun (.s<). The candidates failed to
realize that, this had no grammatical error. The candidates also failed to realize
that the pronoun (i) (the second person dual pronoun in nominative case) was
correctly used with the verb in the sentence. This is because this sentence is
about two people. On the other hand, the candidates were not aware about jaar
wa majruur (usa<s o). The candidates thought that, the sentence was incorrect
because it was used with the verb (&) instead of (LaiwJ). Since the last two
letters of the verb and those of the pronoun (i) are the same. The candidates
did not know that, both are used with that pronoun, the difference is in the tense,
as the word (Laied)and (e 45)is the past tense and imperfect tense respectively.

The candidates who had both sufficient vocabulary and the knowledge of Arabic
grammar recognized that, the sentence (s I b7 il in (/) was incorrect
grammatically, while the sentences celel/ Jf obed et | Jarall I S So | aZif
daddl I cadiand oSy A obedi Wil in (<), (z), () and (=) respectively were
grammatically correct.

Item number (6) was,
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Item (6) was about Adverbs («ds.£/). The candidate was required to identify a
word that cannot be used as («4&/) in the list of given words. The candidates
who had sufficient knowledge of dhwarfu determined the correct answer (<)
(5;7\-\). The candidates understood that, in order for a word to be used as an
adverb (dhwarfu) in a sentence, it must be able to provide information on the
time or the place of a particular event while in mansuub (in accusative case). For
this reason they determined that the word (vn) was the answer according to the
requirement of this item.

In addition, some of the candidates chose (), (<) and (®). The candidates failed
to realize that, the words can be used as (~w4£)) (adverbs) to provide
information about time of a particular event while in mansuub (in accusative
case). Moreover, the candidates who opted for (<) failed to realize that, the word
can be used to provide information on the place of a particular event while it is
in mansuub (in accusative case). This analysis indicates that, the candidates who
opted for the distractors were not aware about both adverb of time (ol i/ < &)
and adverb of place (sl <i&) .

Item (7) was,
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Item (7) was about meaningful sentences. The candidate was required to choose
the meaningful sentence from the five options given. The candidates with the

knowledge of meaningful sentences were able to determine a sentence that gives
complete information among the sentences provided. The candidates chose the
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correct answer (9) J«-ﬂf/ > <4 The candidates knew the correct order of
sentences in the Arabic language.

On the other hand, some of the candidates chose (<) /i Gu il Gagd 1/ (1f you
understand the lesson well). The candidates were wrong since this sentence did
not give a complete meaning. These candidates failed to realize that, this
sentence is a protasis and required apodosis in order to give a complete meaning.
The candidates who chose this distractor thought that, the word jayyidan (/<)
was the apodosis of protasis in this sentence. This shows that they did not even
understand the meaning of this sentence.

However, some of the candidates chose () Lual/ ikl oilis . These candidates
were wrong. This sentence does not give a complete meaning to the reader /
listener. The candidates thought that the word al- jadiidu is the predicate of the
mudhwaafu and mudhwaafu ilaihi in the sentence. They also were not aware of
the meaning of this sentence.

In addition to that, there were some of the candidates who opted for the
distractor s/ &b in (=). The candidates were not aware that, the sentence
required a predicate to complete it. The candidates wrongly knew that a verb
baata (<&) is complete verb that can make this sentence a complete one. In
addition, there were, however, some of the candidates who opted for the
distractor ().

Item number (8) was,
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Item (8) was about (Z&«/s+). The candidate was required to identify a particle
which is among (&/ </s3) (Akh-waati inna) in a list of given words. The
candidates who had enough knowledge of (Z&«/#) recognized that, the particle
(4 in (7) was the correct answer.

On the other hand, the candidates who chose (<) J& were wrong. These
candidates were confused by the letter lam of the word () dhwalla having the
sign shadda on it with the lam of (&) la’alla (the correct answer) having the
sign shadda on it. The candidates lacked the ability to distinguish between the
particles &ils3/s &/ (Inna and its sisters) and &isi/ s oS (Kaana and its sisters).

However, some of the candidates chose (@) &=/ (3) < and () ««. The
candidates did not have enough knowledge of identifying both &/s3/ s &/ (Inna
and its sisters) and &s3/ s oS (Kaana and its sisters). This is because some of
the &5/ s &/ (Inna and its sisters) somehow relate with &iss/ s oS (Kaana
and its sisters) in some aspects. For example, some of them relate in number of
letters while others relate in some letters.

Item number (9) was,
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Item (9) was about representative of doer (Sl «it) The candidate was
required to identify the sentence in which there is the representative of doer <)
(Sl The candidates who had knowledge of the representative of doer i)
(Jetdidetermined the correct answer (=) L'-"J:'.)S‘-ﬁ”f’-b' They recognized that, the
noun €4 in the sentence is the representative of doer (Jel «uili)The
candidates realized that, the representative of doer (el i) is an object of the
sentence that replaced the doer () after being removed.

In addition, some of the candidates chose (1) 4444 Jf <ill caséi The candidates
were not aware that, this is an active sentence whose subject is clearly
mentioned. They were not aware that, the subject (doer) of this sentence was <
The candidates were deceived by the sentence structure which contained a verb
known as a2 Jed/ (intransitive verb) which does not require an object to make
it meaningful. The candidates thought that, the doer in this sentence was the
representative of doer, since the object was not mentioned.

On the other hand, some of the candidates chose (&) s/ I (wlill g8l The
candidates were wrong since it was the active sentence whose subject was
(). The candidates were deceived by the sign dhwamma on the letter yaau in
the verb cudle The sign led them to assume that, the word ¢l was the
passive voice of the verb and that, it required the representative of doer <)
(S which they thought was the noun (c~«&)in this sentence.

Furthermore, some of the candidates chose (3) /& L/ i gt The
candidates had no enough knowledge of the representative of the doer <)
(S This is because; in this sentence the verb s was the active voice of the
verb which required the doer. The candidates did not know that, the
representative of the doer (Sl «il) should be used with the passive voice of
the verb (ugaal! e Jod),

On the other hand, there were some of the candidates who chose (=) te_j¥/ cadid
These candidates were impressed by the structure of the sentence which
contained a verb with the form of tafa’ala (J£&). In this sentence the word
(L¥) was self-sufficient due to the type of verb that preceded it. The
candidates thought that, the word (__¥) was the representative of the doer <L)
(S since there was no object mentioned in this sentence.

The analysis shows that, the candidates who chose the correct answer in this
item, had enough knowledge of both the passive voice of the verb and the
representative of doer (& «il). Moreover the candidates knew what each
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sentence meant. On the other side, the candidates who failed to determine the
correct answer lacked sufficient knowledge of the representative of the doer <)
(el This made them to be misled by some of the techniques used in the
distractors.

Item (10) was,
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Item (10) was about simile. The candidates were required to identify a non-
pillar of (tashbiih) simile from the list given. The candidates who had enough
knowledge of simile (4x&d) identified the statement () 4l 4-Mto be the

correct answer. The candidates realized that, the simile in the Arabic language
has four pillars which are 4 4udell ¢ 4ucdall ¢ 4pdilf s/0/and 4l 4ay.

In addition, the candidates who chose the distractors (1) 4udall (@) 4 4udall ()

4wuddl 5)9and (@) 4w 4adid not have enough knowledge of simile. Moreover,
the candidates did not know that, these are the pillars of at-tashbiih (simile).
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2.1.2 Question 2: Matching items
The question consisted of five (5) matching items. It was about nouns. List ‘A’
consisted of plural nouns while List ‘B’ involved definitions. The candidates
were required to match each plural noun in List A with its corresponding
definition in List B by writing the letter of the corresponding response beside the
item number in the answer booklet provided. The question was:

(<) Bl Sl il g () B2 sl s ol 4o 2
ol»)'l ujq a3 )..J ..9) u\é A;L’-w S & lﬁa
(<) b2 () G
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oy i asy w380 B Ju| | 4 .,,Aur %o

: % ’ 2./ 1. " ‘ o
Ops ol o o 330, 2S00 e J G s ,;J..‘J-\ SADER 4
il s gi8 80 Lo 5G] af ,g,u.n s s,
s g gy Jo 50 B S|
5l g,}'SI\ 8303 £ dl;\ji, Gl
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The question was attempted by 15,528 candidates (100.00%), out of whom
1,628 candidates (10.48%) scored from 3.5 to 5.0 marks, which is a good
performance. Also, 3,627 candidates (23.36%) scored from 1.5 to 3.0 marks,
which is an average performance. Lastly, 10,273 candidates (66.16%) scored
from 0.0 to 1.0 mark, which is a weak performance. Therefore, the candidates’
general performance in the question was average, considering that, 5,255

candidates (33.84%) scored from 1.5 to 5.0 marks. The overall candidates’
performance in the question is summarized in Figure 2.
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Figure 2: Candidates’ Performance in Question 2

The data analysis shows that, 1,628 candidates (10.48%) had a good
performance. These candidates mastered Arabic Language nouns. The data
shows that, among of the candidates who had a good performance in this
question, 718 candidates (44.10%) got all 5 marks. The candidates showed
sufficient knowledge of Arabic Language nouns. The candidates who scored all
the marks for example, matched the items of List ‘A’ with the correct definition
from List ‘B’ as follows: the candidates matched the item (1) geaf/with (&) &
sl 5 pludf 46 Lo Ju . The candidates knew that, the plural in the Arabic
language starts from three. However, the candidates were able to match item (2)
With (R) Ldalf 5 pw _pdi e pi8ll Je J Lo, The candidates were familiar with gaea
< (broken plural) structure. The candidates realized that (_s«<Z/ zea) jam-
uttakseeri is made by changing the structure of its noun in a singular form.

The candidates were also able to match item (3) allwl/ &ipalf gaa with (J) & &
sl il 535 pdsh e The candidates knew that, the plural noun sl zas
allwd/ is formed by adding the letters alifu and tau. They matched item (4) zea
Esaall giiawith (3) Jelie o/ Jelia oy Ao 4880 e Ju Lo, They also matched
item (5) alleud! ssiall gaa with (2) 3dlls sbll of 9l3l 53 ju _pisll & 4 La . This shows
that, the candidates had sufficient knowledge of types of plurals. Extract 2.1
shows a sample of the correct responses from one of the candidates.

18



Extract 2.1: A Sample of Correct Responses in Question 2

The Extract2.1 is a sample of responses from one of the candidates who matched
Colum A and B correctly.

Although the performance was good, 3,627 candidates (23.36%) scored average
marks. The analysis shows that, some of them matched correctly between two
and three items. This is attributed to the candidates’ partial knowledge of the
subject matter.

On the other hand, 10,273 candidates (66.16%) failed in this question.
Moreover, 54.38 per cent of candidates who failed scored zero. One of the
candidates for example, Matched item (2) s/ zaa (broken plural) with (J) &
p L5 ifY) 5 s i< & 4. The candidates confused the definition of ( cupel/ zas
allwd) jam-u muannath saalim with s/ zea (broken plural). This is because
there are some of nouns in the group _s«<d/ zea (broken plural) whose plural is
slightly similar to that of (alw &34/ 243) jam-u muannath saalim. The nouns are
like <tdy/ from <dy | slwds from s and sbsd from g, In this type of
pronoun there is a letter alifu which is added as in (afw i3 zad) jam-u
muannath saalim. Since the candidate could not properly distinguish between
(sl za2) (broken plural) and (allw &gl zea) led him or her also to match
(allw &izall £a3) jam-u muannath saalim in item (2) with the definition of gzes)
(< (broken plural). Extract 2.2 shows a sample of the incorrect responses
from one of the candidates.
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Extract 2.2: A sample of Weak Responses in Question 2

The Extract 2.2 is a sample of a response from one of the candidates who scored
zero. The candidate matched the items incorrectly.

2.2 SECTION B: Short Answers

This section had six (6) questions. Each question had six items except question
three that had five items. The candidates were required to answer all the
questions. Each question carried six (6) marks, except question 3, which carried
ten (10) marks, making a total of forty (40) marks in this section.

2.2.1 Question 3: Inflection (<! Y))

This question had five items. The candidates were required to determine
inflection (<L£¥) of the underlined words given. The question was:

ja.;- 2 G ._),"cj -3
P =R é
polaz ELY s Oy

OB G e S B -
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The question was attempted by 15,528 candidates (100.00%). Among them,
13,406 candidates (86.33%) scored from 0.0 to 2.5 marks, which is a weak
performance. Yet, 1,257 candidates (8.10%) scored from 3.0 to 6.0 marks,
which is an average performance. Additionally, only 865 candidates (5.57%)
scored from 6.5 to 10 marks, which is a good performance. The performance in
this question was weak as 2,122 candidates (13.67%) scored from 3.0 to 10.0
marks. The overall candidates’ performance in the question is summarized in
Figure 3.
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Figure 3: Candidates’ Performance in Question 3

The analysis shows that, 23.06 per cent of the candidates who performed weakly
scored from 0.5 to 2.5 marks. Some of them responded to some items with
incorrect and insufficient answers to some of the items. Consequently, they
scored low marks which did not enable them to get either a good or an average
performance. On the other hand, 76.94 per cent scored zero. Some of these
candidates provided irrelevant answers. Moreover, some of them failed to
understand the demand of the question. One of the candidates for example, in
item (2) which was & (és asl £ v responded that, " g e p asl "
The candidate changed the sentence from verbal to nominal sentence instead of
analyzing it. This shows that the candidates lacked the knowledge of analyzing
words in the Arabic language. The analysis shows that, some of the candidates
wrote meaningless sentences while others skipped the question. This shows that
the candidates lacked the knowledge of analyzing words in the Arabic language.
Extract 3.1 shows a sample of a weak response from one of the candidates in
this question.

21



R
*;xfbm:Jﬂr-«ié::’_!:_ﬁ;..L’c

L AT " -
dalal, gladeals, 23l

A ) sbeglJls ord

Extract 3.1: A sample of Weak Responses in Question 3

Extract 3.1 above shows a sample of responses from one of the candidate who
provided incorrect responses.

The analysis shows that 8.10 per cent of the candidates had an average
performance in the question. This performance can be attributed to candidates’
partial knowledge of inflection and analysis. For example: some of them either
failed to provide correct answers to some items or provided responses with
excessive grammatical errors. Some of them provided incomplete answers to
some items or to all items. Furthermore, some of the candidates in this category
left some parts of the questions blank.
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The data shows that, 5.57 per cent of the candidates had a good performance.
Among them 89.17 per cent did not get full marks, while 10.83 per cent scored
full marks. The candidates were competent in analyzing the Arabic sentences.
One of the candidates for example, responded as follows:

Initem (1) wrote = i duai dodley cipaic §f awl Sy ccualy 2855 cipn” 1)
"ilae sy 54U (Inna: the particle for emphasising and making) and
(Fadhwla: The noun of inna in accusative case and its sign of nasbu is the
visible fatha on the final consonant and it (Fadhwla) is the first part of the
genitive construction) while "5l ded 42d) dadley peism G wd” & adic (
Adhwiimun: is the predicate of inna in nominative case and its sign of raf yu
(&) is the visible dnwamma on the last consonant). In item (2) responded that,
"odell) gk e pda CiBY) o 5 dbe dad dedy dadle g £ 48 £l S8 ey
(var’aa= Imperfect verb in nominative case and its sign of rafyu is the estimated
dhawamma in the letter alif, what prevented it (dhwamma) from appearing is
the atta’adhur (Jid). While "5 &S o a Lade g ygma 44 cilcaa™ Ll (al-
jaari: the second part of the genitive construction in genitive case, and its sign
of jarr is the visible kasra on the last consonant). In item (3) he or she responded
that, "cwaiy &icin": ol(lan:The particle for nafyu and nasb) while Jed" » 452
"5 Ll dadd duai Lodle g Gl cipaia £ Liaa (Yauuda : Imperfect verb in accusative
case by lan and its sign of nasb is the visible fat-ha on the last consonant ) and
"SRl ded i, ddley £yl JoU" :ericadl (al-mustaamaru: the doer in
nominative case and its sign of raf’yu is the visible dhwamma on the last
consonant) . In item (4) he or she responded that, cisais 4 Jsede" & Criawaliial/
" e Y daddl pe A eld) 4ual dodle s (al-mutakhaaswimaini: the object in
accusative case and its sign of nasb is the letter yaa on behalf of the sign fat-ha
since it is the dual noun) while "« ¥/ G 4 Jas ¥ OS] o (sa Jad) cdpa ™ 2 4
(Fii: the preposition for jarr cemented on sukuun, it has no specific position for
i-raab) and "5l 5 o ddley A gsae aw” rAUisd (al-haflati: noun in
genitive case by fii, and its sign of jarr is the visible kasra). In the last item he or
she responded that, A& s 4 aiall plll hea?y GgSdll Ao ira olall Jod™ rey i)
"eld &4, Jaa 4 sl (Igtarabtu: past tense cemented on sign sukuun by being
connected with the vowelled taau which it is cemented on dhwamma in the place
of raf’u (#4.)the doer), o 4¥ sl & Llii ebll o g Lade g A gsna acd” & 53
"icilaa g4 g dwail sLlew¥/ (Dhii: noun in genitive case by fii, and its sign of jarr
is the yaau on behalf of kasra because it is among of the five nouns, and it is
mudhwaaf) and "5 eLb 5 us o dadle g g saa 44 cilaa™ 1Jas (maali: the second
part of the genitive construction and is majruurun and its sign of jarr is the
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visible kasr). The candidates who scored high marks in this question had
sufficient knowledge of the Arabic language and were competent in analyzing
the Arabic sentences. Extract 3.2 is a sample of responses from one of the
candidates who analyzed the given underlined words correctly.
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Extract 3.2: A Sample of Correct Responses in Question 3

Extract 3.2: Is a sample of responses from one of the candidates who analyzed
all the sentences correctly.
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2.2.2 Question 4: Verbs

This question required the candidates to re-write the sentences given and
change their verbs from past tense to present tense. The question was:-

AN oAl Ao —
Asdt fein 218 -
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The question was attempted by 100.00 per cent of the candidates. 13,682
candidates (88.14%) scored from 0.0 to 1.5 marks, which is a weak
performance. Also, 1,320 candidates (8.50%) scored from 2.0 to 3.5 marks,
which is an average performance and 521 candidates (3.36%) scored from 4.0
to 6.0 marks, which is a good performance. The general performance of the
candidates in the question was therefore weak as only 1,841 candidates
(11.86%) scored from 2.0 to 6.0 marks. The overall candidates’ performance in
the question is summarized in Figure 4.
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Figure 4: Candidates’ Performance in Question 4
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The analysis shows that, 8.19 per cent of the candidates who performed weakly
scored from 0.5 to 1.5 marks, while 91.81 per cent scored zero. The candidates
provided irrelevant answers to all items. One of the candidates for example, in

item (1) L)/ didal i (The hunter hunted a rabbit) wrote "3l L/ dgalr
instead of (L'-'J/ JLlal fuay) (The hunter is hunting a rabblt) In item (2) <Ly

i uﬂb (The girls cleaned the room) wrote ""&Lil Sébi 44540 instead of

(4540 S4B Gy (The girls are cleaning the room). In item (3) 4sily sudy s/
(The girl ate the apple) wrote "4sLédy déy & instead of (AsLily 8tdn 805 (The
girl is eating the apple). In item (8)&adl 148 57 53334 (The farmers sowed the
wheat) wrote sl (s8] adl" instead of (Cw-f/ G0 G (The
Farmers are growing the wheat). In item (5) 4&& J/ Lida (We traveled to
Tanga) wrote "&& J Jdlu instead of (& J Jdtud) (We are traveling to
Tanga). In item (6) (isiall L ohalal oida) (These two boys visited the museum)
wrote "cdadall 1517 oidlal s e " instead of (wdsdall oL oilal /48) (These two
boys are visiting the museum). This shows that the candidates lacked

knowledge of Arabic verbs. Some of the candidates even skipped the question
as others copied words from other questions and used them as answers in this
question. Moreover, some of the candidates wrote meaningless sentences.

Furthermore some of them wrote the sentences as it is without changing the
verb as instructed. Extract 4.1 is a sample of weak responses from one of the
candidates.
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Extract 4.1: A Sample of Incorrect Responses in Question 4

Extract 4.1 is a sample of responses from one of the candidates who provided
incorrect answers. The candidate omitted some words from the sentences. The
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candidate for example omitted the subject of the sentence in item (1) while in
item (5) omitted the preposition.

Further analysis of the candidates’ responses shows that 1,320 candidates
(8.50%) had an average performance in the question. This group managed to
change the past tense to present tense but failed in some items. Some of the
candidates’ responses were affected by grammatical errors. This average
performance implies that the candidates had a partial knowledge of verbs (2%
specifically imperfect verb forms.

Moreover, the data show that, the candidates who performed well in this
question were 521 (3.36 %), among them 5.76 per cent of the candidates scored
full marks in this question. These candidates were able to re-write the sentences
given and change their verbs from past tense to present tense as required. One of
the candidates for example, in item (1) wrote (L'-uf JLal Luay) (The hunter is
hunting a rabbit), in item (2) he or she wrote (@ﬂ/uﬂéﬂ ‘-rl-uf/) (The girls are
cleaning the room).In item (3) he or she wrote ((datiy sLidy i (The girl is
eating the apple). In item (4) he or she wrote (Z&&/ G b Uﬁ/"-” (The

Farmers are growing the wheat). In item (5) he or she wrote (& J/ Jﬁl-w) (We
are traveling to Tanga). In item (6) he or she wrote (<adsll oL Hlals his)
(These two boys are visiting the museum). This shows that these candidates were
familiar with the Arabic verbs. Extract 4.2 shows a sample of good responses in
this question.
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Extract 4.2: A Sample of Correct Responses in Question 4
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Extract 4.2 is a sample of responses from one of the candidates who managed to
re-write the sentences given and change their verbs from past tense to present
tense as required.

2.2.3 Question 5: Meaningful Sentence

This question had six items about Meaningful Sentences. The candidates were
required to change the nominal sentences given to verbal sentences. The
question was:
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The question was attempted by 100 per cent of the candidates and their
performance was generally weak. The data shows that, 14,744 candidates
(94.96%) scored from 0.0 to 1.5 marks, which is a weak performance. Also 410
candidates (2.64%) scored from 2.0 to 3.5 marks, which is an average
performance. Lastly, 372 candidates (2.40%) scored from 4.0 to 6.0 marks,
which is a good performance. The overall performance in this question is
summarized in Figure 5.
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Figure 5: Candidates’ Performance in Question 5
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As shown above in the figure 5, the candidates who performed weakly in this
question were (94.96%); among the candidates who failed in this question, 70.7
per cent scored zero. Some of these candidates failed to identify the requirement
of the question. Consequently, they provided information that was not required
in the question. One of the candidates for example, in item (1) wrote Gl
a3l I3 A Gaj8lis . Initem (2) he or she wrote " sl & ALG ilah" | In item
(3) he or she wrote "4 ¢ jtaal . In item (4) he or she wrote - olié Satasr

mds jdadl Furthermore, some of them responded to the items with meaningless
sentences, while others skipped the question. Extract 5.1 is a sample of poor
responses from a candidate who scored zero in question 5.
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Extract 5.1: A sample of weak responses in guestion 5

The extract 5.1 is a sample of weak responses from the candidate who failed in
all the question items. The candidate failed to understand the demand of the
guestion, consequently provided incorrect answers.
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However, the data show that only 410 candidates (2.64%) had an average
performance in this question. The candidates in this group left some items
unanswered. There were, however, some of them who provided answers with
grammatical errors. Furthermore, some of them got two to three items right. This
indicates that they had partial knowledge of both verbal and nominal sentences.

The candidates who performed well in this question correctly changed the
nominal sentences to verb sentences. Some of them, however, failed to score full
marks in this question due to some reasons such as providing answers in some
items that were characterised by grammatical errors. Consequently, they scored
from 4 to 5.5 marks. Furthermore, 18.28 per cent of the candidates who had a
good performance scored full marks. The candidates showed competence in both
nominal and verbal sentences. One of the candidates for example, responded as
follow, in item (1) wrote “»3tad i udl jitis (People are traveling to Dar es

salaam) . In item (2) he or she wrote "4/ & g0 sLL" (The boy sleeps on the
bed). In item (3) he or she wrote "Jtead/ < " (The donkey is beaten). In item (4)
he or she wrote "4duall J oLathy <éLi (The two students go to school) . In
item (5) he or she wrote "4 5 sa il éé-ii (The tree is cut down) and in item (6) he or
she wrote ‘Glaie¥/ -4 LaSt & Zali(The students passed the exam). These

responses suggest that the candidates had adequate knowledge of Meaningful
sentences in both nominal and verbal sentences. Additionally, the candidates had
the knowledge of sentence structure of both nominal and verbal sentences.
Extract 5.2 is a sample of good responses from one of the candidate who scored
all marks allocated in this question.
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Extract 5.2: A sample of Good Responses in Question 5
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Extract 5.2 is a sample of good responses from the candidate who answered all
parts of the question correctly.

2.2.4 Question 6: Adjectives

This question was about Adjectives. It had six items. The candidates were
instructed to fill in the blanks of the sentences given with appropriate vowelled
adjective (4-440) after re-writing them. The question was,
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The question was attempted by 15,528 candidates (100.00%) and their
performance was generally weak. The data shows that, 14,542 candidates
(93.65%) scored from 0.0 to 1.5 marks, which is a weak performance. Also 736
candidates (4.74%) scored from 2.0 to 3.5 marks, which is an average
performance. Lastly 250 candidates (1.61%) scored from 4.0 to 6.0 marks,
which is a good performance. The overall performance in this question is
summarized in Figure 6.
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Figure 6: Candidates’ Performance in Question 6

The analysis shows that, 14,542 candidates (93.65%) scored from 0.0 to 1.5
marks which is a weak performance. Some of them filled in one item with the
correct answer. There were also candidates who scored half marks in some
items. On the other hand, the data shows that, 91.47 per cent of the candidates
who failed scored zero. The candidates who got zero in this category were
unable to fill in even one adjective correctly. Further analysis shows that, the
candidates were not knowledgeable about adjectives. Yet, some of them copied
some words from other areas in the question paper and used them as their
answers.

One of the candidates for example, in item (1) wrote "Js&¥” | in item (2) wrote
méLdir in item (3) wrote "éed” | in item (4) wrote "/ | in item (5) wrote
niu¥" | however, the candidate skipped item (6). Furthermore, some of them
responded to the items with meaningless sentences, while others skipped the
question. Extract 6.1 shows a sample of a weak response from one of the
candidates in this question.
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Extract 6.1: A Sample of Weak Responses in Question 6

The extract 6.1 is a sample of responses from the candidate who provided
incorrect answers. The candidate copied words from question number 3 and
used them as answers in this question.

Further analysis of the candidates’ responses shows that 4.74 per cent of the
candidates had an average performance in the question. This group managed to
respond correctly, but only in some items. Some of their answers provided had
grammatical errors. This average performance implies that the candidates had a
partial knowledge of Adjectives ( /).

The analysis shows that, the candidates who had a good performance in this
question filled in the blanks with correct vowelled adjectives. The analysis
shows that, 17.60 per cent of the candidates who had a good perfomance
attained full marks in this question. One of the candidates for instance,
responded to the question as folow: In the item (1) he/she wrote u-wY/ J}Lffl"
"¢ gisa (The faithful trader is well-liked), in the item (2) he/she wrote 4 Guls”
"e| i 4443 (She sat in the green garden), in the item (3) he/she wrote Euaf”
"igiss Laied Liell 55 (1 wore a new dress (gamiisun) in the Eid day), in the item (4)
he/she wrote "/ culdll Cuthll dujf” (The absent student sent an apology)
Additionally, he/she wrote in item (5) "&ﬁ Slgs Ly (The lion is a
predatory animal) while in the lastly item (6) wrote & 4aidf &kt cubic
" ¥ (the old airplane fell on the ground)
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This shows that the candidates had enough skills in the Arabic adjectives and
how to use them in sentences. Extract 6.2 is a sample of correct responses from
one of the candidates.
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Extract 6.2: A Sample of Good Responses in Question 6

The extract is a sample of good responses from one of the candidates who was
able to fill in the blanks with appropriate vowelled adjectives.
2.2.5 Question 7: Comprehension

This question was about reading for comprehension. The candidates were
required to read the passage and answer the questions from the given passage.
The passage was about patriotism toward our beloved country Tanzania. The
question was:
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The question was attempted by 15,528 candidates (100.00%). A total of 13,568
candidates (87.38%) scored from 0.0 to 1.5 marks, which is a weak
performance. In addition, 1,629 candidates (10.49%) scored from 2.0 to 3.5
marks, which is an average performance. Lastly, 331 candidates (2.13%) scored
from 4.0 to 6.0 marks, which is a good performance. The general performance in
this question was weak since 1,960 candidates (12.62%) scored from 2.0 to 6.0
marks. The overall candidates’ performance in the question is summarized in
Figure 7.
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Figure 7: Candidates’ Performance in Question 7

The data shows that, 13,568 candidates scored from 0.0 to 1.5 marks which is a
poor performance. Among them 69.61 per cent of the candidates scored zero.
They were unable to respond to the items as required. The candidates had
insufficient vocabulary. Consequently, some of them left the question
unanswered and some of them copied some words from other questions and
used them as answers. Furthermore, some of the candidates copied some words
from the stem of this question (the statement of the question) and used them as
answers for this question. Additionally, some of the candidates wrote
meaningless sentences. One of the candidates for example, in item (1) wrote
"uadl”instead of summarizing the passage and in item (3) he/she wrote s 2"
" Jubf . The candidate used the word (J4&/) in the incomplete sentence instead
of using it to make a meaningful sentence. The candidate failed to use it in the
meaning sentence. Extract 7.1 is a sample of poor responses.
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Extract 7.1: A sample of Poor Responses in Question 7

Extract 7.1 shows a sample of responses from one of the candidates who gave
incorrect answer. The candidate for instance, wrote the short statement in item
(1) instead of summarizing the passage.

Further analysis of the candidates’ responses shows that 1,629 candidates
(10.49%) had an average performance in the question. Some of them managed
to respond to all items but their responses had grammatical errors. However,
some of them responded correctly to one item but failed in other items. Also
there were some candidates who responded correctly to one item while in one of
the two rest items provided insufficient response. This average performance
implies that, the candidates had partial knowledge of comprehension.

Contrarily, the candidates who scored high marks in this question summarized
the given passage and responded correctly to the rest two items. However, some
of them showed some weaknesses. Some of the candidates for instance, were
unable to summarize the given passage correctly. On the other hand 13.60 per
cent of the candidates who had a good performance scored full marks in this
question. The candidates showed competence in comprehension and had
sufficient vocabulary. One of the candidates for example, in item (1) Sall um-'
il 5854 ga u-ubw-f w4 & (Summarize the passage which you read W|th|n
two lines by con5|der|ng the meamng) He/She wrote ‘;MJ JBJ S Sa7

W ATy callell 4 Ladiall (il g iitil) Uik G387 b5 & 3idh o rinienn § (i jiidi
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il fé—‘TI-i-'i’o (We Tanzanians men and women, Muslims and Christians, elders
and children we are delighted by our country which is identified by peace and
harmony in the world and we are proud of her and we are preserving her),in
item (2) Cied diby slad dialy 34 L (What is your duty towards your beloved
country?). He/She wrote A& 4Blas) ga die gLty 4 Sl 36 i salf ik sl alg)
(44t (My duty towards my beloved country is to love, defend and preserve her
dignity). In item (3) duie ju sgids dlag o8 udb/n dalf & (Make your own
sentence using the word “Children”). The candidates who answered correctly in
this item responded: (it,-:jSJfLZfLiélj (Our children are intelligent).The candidates
who responded correctly in this question had sufficient vocabulary and the
knowledge of comprehension. Extract 7.2 is a sample of responses from the
candidate who responded to the question correctly.
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Extract 7.2: A Sample of Good Responses in Question 7

The Extract 7.2 shows a sample of good responses from one of the candidates

2.2.6 Question 8: Jumbled Sentences

In this question, the candidates were instructed to re-arrange the five sentences
into a logical sequence to make a meaningful paragraph. The question tested
the candidate’s ability to organize the sentences into a meaningful paragraph.
The question was:-
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The question was attempted by 15,513 candidates (100.00%), out of whom
13,752 (88.65%) scored from 0.0 to 1.5 marks which is a weak performance,
942 candidates (6.07%) scored from 2.0 to 3.5 marks which is an average
performance; and 819 candidates (5.28%) scored from 4.0 to 6.0 marks which is
a good performance. Therefore, the candidates' general performance in the
question was weak, considering that 1,761 candidates (11.35%) scored from 2.0

to 6.0 marks. The overall candidates’ performance in the question is summarized
in Figure 8.
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88.65

Percentage of Candidates

Figure 8: Candidates’ Performance in Question 8
As shown above, the candidates who had a weak performance in this guestion
were 88.65 per cent; among them, 82.76 per cent of the candidates scored zero.
The candidates lacked knowledge and skills of rearranging jumbled sentences
correctly. Consequently, they seemed to have guessed answers. Furthermore,
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some of the candidates skipped the question. Among the candidates with zero
for example, picked the sentence (Lusi & s/ 220 Ji) (It arrives after a week),
as the first sentence , (¥ aS «av) (Yes, how much is it?) as the second
sentence. Furthermore, the candidate chose the sentence «<Lild 5 e 048 ¢ Juads)

(ped) )3 ) Jai e (Here are ten shillings, when will it arrive in Dar es
Salaam?) as the third sentence. He or she chose (fo/siel <uis o) (Did you write
the address?) as the fourth sentence. Moreover, the candidate picked the
sentence (gl Ll <lild 5 de) (Ten shillings by normal post), as the fifth
sentence in the given paragraph. Finally, the candidate selected the sentence
(d) )3 A i) Jds Ju )] G 200) (1 want to send this letter to Dar es Salaam),
as the sixth sentence.

This suggests that the candidates in this category lacked the knowledge of
organizing information in the order that brings meaning. Extract 8.1 shows a
sample of a poor response from one of the candidates in the question.

Extract 8.1: A sample of Weak Responses in Question 8

The Extract 8.1 shows a sample of responses from one of the candidates who re-
arranged the sentences incorrectly.

Furthermore, the analysis indicates that, 942 candidates (6.07%) scored from 2.0
to 3.0 marks, which is an average performance in this question. Majority of the
candidates scored two or three marks. This suggests that they had partial
knowledge of Arabic language and insufficient vocabulary.
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As shown in the analysis, the candidates with a good performance in the
question had scores ranging from 4.0 to 6.0 marks. They were able to re-arrange
the jumbled sentences in a logical sequence to make a meaningful paragraph.
However, some of them failed in either one or two items. The data analysis
shows that, 78.29 per cent of the candidates who had a good perfomance scored
full marks. They were able to re-arrange the jumbled sentences in a logical
sequence to make a meaningful paragraph. The candidates had the knowledge
and skills of organizing information in a good manner. Moreover, they knew
what each sentence meant. One of the candidates for instance, rearranged the
sentences as follow: (@&l i A il 1is Lo/ & 1) (I want to send this
letter to Dar es Salaam) to be the first, (“lsit) <oiis Js) (Did you write the
address?) to be the second sentence, (%Y aS «a2i) (Yes, how much is it?) to be
the third sentence, (bt Ly <lild 5 de) (Ten shillings by normal post) to be
the forth sentence, (fadbid) M ) Jucai e clild 5 pdie 018 «Jadi) (Here are ten
shillings, when will it arrive in Dar es Salaam?) to be the fifth sentence and
(L £ e 12 L) t0 be the last sentence. Extract 8.2 is a sample of responses
from the candidates who correctly rearranged the given sentences.
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Extract 8.2: A Sample of Good Response in Question 8

Extract 8.2 shows a sample of a response from one of the candidates who was
able to re-arrange the jumbled sentences into a meaningful paragraph.
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2.3 SECTION C: Composition

This section had four questions: one was about writing an article and the second
on letter writing. While the rest two questions were about literary works. The
candidates were required to attempt only three questions in this section. Each
question carried fifteen (15) marks, making a total of 45 marks.

2.3.1 Question 9: Article writing

The question was about benefits of planting trees. The candidates were required
to write an article about the “benefits of planting trees” (&% € 4i(39 in not
less than 150 words. The question was:

B WS A8 Y oLy s g BN o ang bk s Sls T o2 -9

The question was attempted by 1,908 candidates (12.29%). The general
performance in this question was weak as 18.24 per cent of the candidates who
attempted the question scored from 4.5 to 13.5 marks. Furthermore, the analysis
of the candidates who attempted the question shows that: 1,560 candidates
(81.76%) scored from 0.0 to 4.0 marks, which is a weak performance, 293
candidates (15.36%) scored from 4.5 to 9.5 marks, which is an average
performance. Yet, 55 candidates (2.88%) scored from 10.0 to 13.5 marks,
which is a good performance. The performance in the question is summarized in

Figure 9.
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Figure 9: Candidates’ Performance in Question 9
The candidates who performed poorly in this question demonstrated weakness in
expressing the given topic. Consequently, they scored from 0.0 to 4.0 marks
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which is a weak performance. However, some of the candidates who did not
score zero in this category were able to write introduction which had
grammatical errors. Some of them were able to explain the benefits of planting
tree with weak and few points. On the other hand, the candidates who scored
zero were not able to explain something about the benefits of planting trees.
Consequently, some of them wrote meaningless sentences. On the other hand,
some of the candidates copied words or passages from other questions and used
them as the answers for this question. These incorrect answers show that, the
candidates lacked enough vocabulary and the knowledge of expressing different
issues in the Arabic language. Extract 9.1 is a sample of a candidate who
performed poorly in this question.
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Extract 9.1: A Sample of Poor Responses in Question 9
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Extract 9.1 shows a sample of poor responses. The candidates mixed
meaningless sentences and some words from other sentences.

However, a few candidates had an average performance in this question. The
candidates were able to write an article about benefits of planting trees, although
they showed some weakness in their responses such as, failing to organize the
points in a good order and providing insufficient explanations. There were,
however, some of them who mixed incorrect and correct responses. Generally,
their responses had a lot of grammatical mistakes and spelling errors.

On the other hand, there were a few candidates who had a good performance in
this question. These candidates were able to explain the benefits of planting trees
as the question demanded. The candidates provided good introduction, well
organized points to support the topic and lastly they wrote a good conclusion.
Although, the candidates had a good performance in this question, their
responses had very minor spelling and grammatical errors which prevented them
from scoring full marks. However, the candidates showed high competence in
explaining different issues in Arabic Language. This implies that they had
sufficient vocabulary and grammar of Arabic Language. Extract 9.2 shows a
sample of a good response.
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Extract 9.2: A Sample of Good Responses in Question 9

Extract 9.2 is a sample of responses from one of the candidates who performed
well in this question, although he or she had a few mistakes.

48




2.3.2 Question 10: Letter Writing

The question was about Letter writing. The candidate was required to write a
letter using a name ‘Sibawayhi’ to inform his or her friend that, he or she shares
with him his joy in the occasion for receiving his Secondary Certificate. The
question was:
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This question was attempted by 8,101 candidates (52.17%). The analysis of the
candidates who attempted the question shows that: 136 candidates (1.68%)
scored from 10.0 to 13.5 marks, which is a good performance, 2,527 candidates
(31.19%) scored from 4.5 to 9.5 marks, which is an average performance. Yet,
5,438 candidates (67.13%) scored from 0.0 to 4.0 marks, which is a weak
performance. The performance in the question is summarized in Figure 10.
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Figure 10: Candidates’ Performance in Question 10

The analysis shows that 1.68 per cent of the candidates who attempted the
question scored high marks. These candidates were able to write the letter, as the
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question demanded. Although they arranged their ideas in a good flow, their
responses had very minor spelling and grammatical errors. This implies that
these candidates had both sufficient vocabulary in Arabic Language and good
writing skills. Extract 10.1 shows a sample of good responses.
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Extract 10.1: A Sample of Good Responses in Question 10
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Extract 10.1 is a sample of good responses from a script of a candidate who
wrote the good letter. The candidate had the knowledge of writing Arabic letters,
although, the candidate showed some weaknesses in his or her responses.

On the other hand, some of the candidates had an average performance in this
question. The candidates managed to write the address, the greeting, the main
body and conclusion, yet their response had grammatical errors. This indicates
that the candidates had insufficient vocabulary.

The analysis shows that 67.13 per cent of the candidates who attempted the
question scored from 0 to 4 marks out of 15 marks allocated to the question.
Some of the candidates in this category, who scored some marks in this
question, wrote the address of the letter and its introduction. With regard to the
candidates who scored zero in the question, they completely failed to write the
letter. The candidates showed weakness such as repeating the question in their
responses, copping some words from other questions and using them as answers
and providing unclear explanations. This shows that, the candidates had
inadequate knowledge of letter writing and insufficient vocabulary. Extract 10.2
is a sample of poor responses.
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Extract 10.2: A Sample of Weak Responses in Question 10

Extract 10.2 shows a sample of responses from one of the candidate who was
unable to answer the question instead he or she wrote meaningless sentences.
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2.3.3 Question 11: Literary Work

The question was about literary works. The candidates were required to talk
about the story “The Tortoise Wins the Race” with giving three lessons that we
can benefit from it in our daily life. The candidate was instructed to write about
this in not less than one hundred and fifty (150) words.

The question was:
5 % it i il ol 15 r& (g GUL) 3 Jolf LA 2adf 11
Ao S PR Ak y\utsdu_,matjw

The question was attempted by 5,999 candidates (38.63%). The general
performance in this question was average since 34.16 per cent of the candidates
who attempted the question scored from 4.5 to 13.0 marks. Furthermore, the
analysis of the candidates who attempted the question shows that, 80 candidates
(1.34%) scored from 10.0 to 13.0 marks, which is a good performance, 1,969
candidates (32.82%) scored from 4.5 to 9.5 marks, which is an average
performance. Yet 3,950 candidates (65.84%) scored from 0.0 to 4.0 marks,
which is a weak performance. The performance in the question is summarized in
Figure 11.
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Figure 11: Candidates’ Performance in Question 11
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The data analysis shows that, a few candidates had a good performance in this
question. The candidates responded correctly to the question. Although, they
arranged their ideas in a good flow, their responses had very minor spelling and
grammatical errors. This implies that the candidates had sufficient vocabulary in
Arabic Language and good writing skills. Extract 11.1 shows a sample of good
responses.
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Extract 11.1: A Sample of Good Responses in Question 11

Extract 11.1 is a sample of responses from the candidates who had a good
performance.

55



In this question, 1,969 candidates (32.82%) scored from 4.5 to 9.5 marks, which
was an average performance. The candidates somehow demonstrated the
knowledge of summarizing and analyzing the story. Furthermore, they
demonstrated the mastery of essay writing skills. However, their responses had
grammatical errors. In addition, some of them provided a mixture of correct and
incorrect responses. There were, however, some of them who repeated the
points.

The candidates who performed poorly in this question exhibited weakness in the
question. The candidates who scored some marks in this category were able to
make a good introduction but failed to provide satisfactory explanation in the
main body. On the other hand, 37.39 per cent of the candidates who failed in
this question scored zero. They were unable to write and analyze the story.
Consequently, some of them wrote meaningless sentences. Additionally, some
of the candidates attempted the question using other book instead of the
instructed one. These incorrect answers suggest that, the candidates lacked
enough vocabulary and knowledge of both summarizing and analyzing literary
works. Extract 11.2 is a sample of candidates who performed poorly in this
question.
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Extract 11.2: A Sample of Weak Responses in Question 11

Extract 11.2 shows a sample of responses from one of the candidates who

provided incorrect responses. The candidate wrote meaningless sentences.

2.3.4 Question 12: Literary Works

The question was about literary works. The question required the candidate to
educate his or her society that, it can only reach progress and development
through cooperation and mtegratlon among them, by using the literary book
“The Kingdom of Bee’ (Jad 4<tid). However, the candidate also was required to
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give three advantages of cooperation and integration. The candidate was
instructed to write about this in not less than one hundred and fifty (150) words.

The question was attempted by 5,439 candidates (35.03%). The general
performance in this question was average, as 33.66 per cent of the candidates
who attempted the question scored from 4.5 to 14.0 marks. Furthermore, the
analysis of the candidates who attempted the question shows that, 105
candidates (1.93%) scored from 10.0 to 14.0 marks, which is a good
performance, 1,726 candidates (31.73%) scored from 4.5 to 9.5 marks, which is
an average performance and 3,608 candidates (66.34%) scored from 0.0 to 4.0
marks, which is a weak performance. The performance in this question is
summarized in Figure 12.

Scores

m0.0-4.0

4.5-9.5

®10.0-14.0

1.93%

Figure 12: Candidates’ Performance in Question 12

The candidates who performed weakly in this question showed weaknesses in
analyzing Arabic literary books. However, some of the candidates who scored
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marks in this category, were able to make a good introduction, but failed to
provide satisfactory explanation in the main body. Furthermore, 42.88 per cent
of the candidates who scored zero were unable to write and analyze the story at
all. Consequently, some of them wrote meaningless sentences. On the other
hand, some of the candidates copied words or passages from other questions and
put them as their answers. These incorrect answers show that these candidates
lacked enough vocabulary and the knowledge of analyzing Arabic literary
works. Extract 12.1 is a sample of candidates who performed weakly in this
question.

Pasnieles 2

Tl fin L Gtlpor s tr (i

(il oo roala [;m—e f ool &
lobsaf o b INGr ) i o/hi,s/'c,;;r*&ﬂ

& T p o)) 58 o LaﬂWt::/zal
s 7 7 ?

I RS L SN T A8 y’?w'(/;}'r.«

0,) 0,90 )90, forx 8235 Djsdl @) o
7 fla—l (// 7 4

60,5 ci=p aadl g da)s
P}

7 / J

sl GoT F fnTo >

Extract 12.1: A Sample of Weak Responses in Question 12

Extract 12.1 shows a sample of weak responses from the candidate who failed in
this question. The candidate provided meaningless explanations.
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The candidates who scored from 4.5 to 9.5 marks as an average performance
identified the question's requirement. The candidates were able to write
introduction and conclusion but wrote the mixture of correct and incorrect points
in the main body. They also did not score high marks because of the failure to
provide exhaustive elaborations.

The candidates who performed well in this question were able to respond to the
question as required. Furthermore, the candidates organized their points
appropriately, starting with the introduction, main body and conclusion. The
candidates” good performance shows that, they had adequate knowledge of the
story of “Bees’ Kingdom” (D 4<Liy). Moreover, they showed the knowledge
of analyzing and summarizing the Arabic language story. However, their
responses had some very minor grammatical errors and spelling mistakes.
Extract 12.2 shows a sample of a good response in this question.

60



' ,/»L,,% L iaai gl ]
.4.3“:4"..:‘:)1~ e .a._‘z,AJ.chjy,M\} 5
q"\;)lvt/%)\}uv(e”\/ u/a)‘./fzw -

S——

W‘;} /)}*“ ﬂtm"lev—;u‘ e

. - —— . com——

- enm—— PO - —. a—

N L /), L.

520\ g Lﬂkdﬁ%‘@u\»ﬁqm)h

- —— e — . —

i L‘Lﬁ'.,b-&lﬁ—’aa) “’md?‘j/@-’q‘(/\‘)

[ /@wﬁoAﬁ@ch@ww\,m
%/wvm w@wﬂvﬂf{#ﬁw

o _.-_‘Hmé))_w.n.z}_,iw Uj")l M Nf .

—— e —

"'f.'f; c.?UB‘— “""[;B'

——— ——— . o — - ———

61



e _m_ -_4

i~ (}""W Yyoleirge L o Al e
TN 2 E uLJ\‘)..«‘__; (/Lés-o i,,,:* :
B PP WS SODIPE ) BYRCE RIS -7 W4 i
kR e s e
- (Ganl \@«u_.gg)\aatw%-»\.é .
— ‘M_‘]rd-p «-:-u»‘} ‘L[_r"\c-.—/[/.?c:é’ | ﬂ
] vL\J—LJ@JﬂV&L’—' ‘P;.—-b‘\/-\s“u L'ks"s

. wi_j_‘LI»ﬂf -—u—°,1 MV (_,:’\3 C.-ev'e‘-)Y .
,,,L:».LJ.:.VV#UL:_JHJL;.?E,L&WL,Q -

“40/Lj MnyL,vMJ‘A

T S L@
gl O Loy
,_ ,{/w‘d@ ‘!.‘&Q\ bu\ ‘:ﬂt/qe ,#(442\ By

' ﬁ/ﬁblﬁéﬁ}l%@@’

62

I




\).aLd I)_J..ﬁ ik —l—l_hs.gwr&.w n.u-\..a_j i

——— -

.._JJ-"_u.z_y»d k/jZ;)‘J w.f_l{—u.’ ‘_,y\g)_\ -

—Y

G2 et Do b s

R A e atts & s v o |

IS * | WP o, i-goir 1|
PRI, VS 3 P T < U O P I
: M\an-&b, DN st ieS &

(T ) Lles. r@»{s’}-‘:e],z_;,.” .
: Ié“d"UJL—" 5 Gegath b oo b YT o

Extract 12.2: A Sample of Good Responses in Question 12
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3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE ON EACH TOPIC

The Arabic Language Examination involved the following topics: Noun (a«Y));
Verbs (J29¥); The meaningful Sentence (sdal 4laal); Adjectives (edl);
Reading for Comprehension; Expression; Inflection; Uninflected words; The
Five Nouns (dwell slewd)); Tamyiizu (iad); Adverbs (—ds.4%); Nawaasikhu;
Subject of the sentence (ft); Literary works and Balagha.

The topics with average performance were: question 1 which consisted of Noun
((~</¥1); Meaningful sentence (51deff {aatl). Uninflected words; The Five Nouns

(Awaidl glawl); Tamyiizu (iwedl); Adverbs (—dss47); Nawaasikhu; The subject
of the sentence (e4); and Balagha) (35.81%); Literary works (33.91%) and
Noun (a¥/) (33.84%).

Additionally, the topics with weak performance were: Expression (20.82%);
Inflection (13.67%); Reading for Comprehension (12.62%); Verbs (11.86%);
Adjectives (<) (6.35%) and The Meaningful Sentence (s4dalf Laatl) (5.04%).

The candidates’ performance on the topics is summarized in Appendix A,
whereby yellow colour indicates average performance, while red colour
indicates a weak performance on the topics.

4.0 CONCLUSION

The general performance of the candidates in the Arabic Language subject 2021
was (16.65%) which is weak. This was contributed by the candidates’ weak
performance on Expression; Inflection; Reading for Comprehension; Verbs;
Adjectives and The Meaningful Sentence. Among the reasons that contributed to
the weak performance were, insufficient knowledge of analyzing sentences;
inadequate knowledge of verbs, insufficient knowledge of using adjectives in a
sentence correctly, insufficient Knowledge of comprehending information,
insufficient knowledge of expressing deferent issues correctly and insufficient
knowledge of sentence structures.

On the other hand, some of the candidates had a good performance on these
topics. This was a result of candidates’ knowledge on such things as
understanding the requirements of the question, adequate vocabulary, high
ability to express different issues and the knowledge of Arabic grammar.
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5.0

RECOMMENDATIONS

To

improve the performance of the candidates in future examinations, the

following are recommended:

(a)

In order to increase the level of performance in Verbs, it is recommended
that, the teacher has to provide different examples of sentences with types
of verbs in the classroom during the teaching and learning process. In
addition, the teacher should guide the students to identify the types of verbs
in the sentence. The teacher then should explain to them in detail while
focusing on: the meaning of the verb, the types of verb, the signs of verb,
the inflection of the verbs and the ways in which the verb differ from the
nouns.

In addition, the teacher should arrange the students into small groups and
then provide them with five sentences. The teacher should ask the students
to identify verbs, types of verbs and then inflection of those verbs from the
sentences given.

(b) In order to increase the performance in Adjective, the teacher should present

(©)

examples of adjectives in the classroom during the teaching and learning
process. Then, read them in front of the students. After that, he or she has to
select one student to read the examples presented to them loudly. The
teacher then should explain in details while focusing on the definition of
adjective (<l «ii29) and the rule of adjective (<ed/ a$a)

Also, the students have to copy the examples presented into their exercise
books. Then, the teacher should ask oral questions to the students. Lastly,
the teacher should provide students a task taken from the textbook. Lastly,
the teacher should mark the questions which were done by the students.

The teacher should present some examples of ‘meaningful sentences’ of
both ‘verb sentences’ and ‘nominal sentences’. Then, he or she should
guide the students to read them loudly. After that, the teacher should
explain in details while reminding students on the important things that
make meaningful verbal sentences and meaningful nominal sentences.
Lastly, the teacher should give the students an exercise in creating
meaningful sentences on both nominal and verbal sentence.
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(d) In order to increase the level of performance in Expression, The teacher

(€)

(f)

should introduce different topics (for composition) to students during
teaching and learning process. The teacher should guide the students to
write about those topics and discuss them in their groups and then he or she
has to correct them in areas where they showed some weaknesses.

Furthermore, to improve letter writing skill to candidates, the teacher
should give the candidates different samples of letters involving both
official and informal letters. Thereafter, the teacher should explain in details
focusing on the elements of letter such as the address and its requirements,
the title of the letter (for official letter) and main body of the letter. Then,
the teacher should ask the candidates to write a letter about any topic that he
or she will suggest. To reinforce the knowledge, the teacher should make
follow up to the students by giving them exercise.

In addition, the teacher should prepare groups for various tasks such as
discussions, debates and plays for different topics. In addition, these
activities should be done at least once a week.

In order to increase the level of performance in Inflection, teacher should
give enough examples of different sentences having variety of words during
the teaching and learning process. After that, the teacher should ask the
students to read them. Thereafter, the teacher should guide the students to
write these examples and discuss in their groups focusing on the rule of
each word in the sentence. Lastly, he or she should go around the groups to
see what is going on.

Hand writing to some students is a challenge. To solve the problem; a

teacher can prepare a special program concerning how to write Arabic
alphabets properly.
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Summary of Candidates’ Performance on Each Topic

Appendix A

2021

S/N

Topics

Number of
Questions

The Percentage of
Candidates who
Scored an
Average of 30% of
Marks or Above

Remarks

question 1 which
consisted of Noun
((A);
Meaningful
sentence 4Laat))
(el
Uninflected
words; The Five
Nouns slewd))
(Lai
Tamyiizu (L)),
Adverbs (s &),
Nawaasikhu; The
subject of the
sentence (JSetdl));
and Balagha)

35.81

Average

Literary works

11 & 12

33.91

Average

Noun (/1)

33.84

Average
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